Notes – College Algebra
Section 2.6 – Ratios, Rates and Conversions

Name: _____________________________					Date: _________

Starter: Solve these equations

1. 
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Notes: 

Ratio:  





Rate:






Problem 1: Comparing Unit Rates
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Conversion Factor:


Problem 2: Converting Units
[image: ]




Problem 3: Converting Units Between Systems
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Problem 4: Converting Rates
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Let’s try this on our own…
Problem 1: You are shopping for t-shirts.  Which store offers the best deal?
	Store A: $25 for 2 shirts	Store B: $45 for 4 shirts		Store C: $30 for 3 shirts

Write each price as a ration.  Then write the ratio as a unit to compare.





Problem 2: What is the given amount converted to the given units?
a) 330 min to hours


b) 15 kg to grams


c) 5 feet 3 inches to inches


Problem 3: The CN tower in Toronto, Canada, is about 1815 ft tall.  About how many meters tall is the tower?  Use the fact that 1 meter = 3.28 feet.








Problem 4: A student ran the 50-yard dash in 5.8s.  At what speed did the student run in miles per hour?
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Got It? Whatis 1250 cm converted to meters?
12. Thereare  centimeters in one meter.
Underline the correct word to complete each sentence.

13. When you convert from centimeters to meters, the number of meters will be
greater than / less than the number of centimeters.

14. When you convert from centimeters to meters, the appropriate conversion factor
will allow you to multiply / divide out the common units.

15. Multiple Choice Choose the conversion factor for converting centimeters to meters.
™ 10em
® e To0 & © TR ®

16. Complete the conversion.

1250cm -

1000em
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Got It? The Sears Tower in Chicago, Illinois, is 1450 ft tall. How many me
tallis the tower? Use the fact that 1 m =~ 3.28 ft.

17. Follow the steps to find how many meters tall the Sears Tower s.

Write the conversion factor as a ratio. Remember, the
- units to be divided out should be in the denominator.

m
ft
Find the height of the tower.
B "
1450 ft - —— = m

ft

\

n The height of the Sears Tower is about meters.
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Got It? Anathlete ran a sprint of 100 ft in 3.1 s. At what speed was the athlete
running in miles per hour? Round to the nearest mile per hour.

18. Circle what you know. Underline what you want to find out.
speed of the athlete in feet per second speed of the athlete in miles per hour
19. Underline the correct word to complete the sentence.
When writing a conversion factor, if the unit to be converted is in the numerator, then
that unit should be in the numerator / denominator of the conversion factor.

20. You will need to perform two conversions to solve the problem. Circle the conversion
factor you will use to convert to miles per second. Underline the conversion factor
youwill use to convert to miles per hour.

1mi 5280 ft 36005 1h
5280 ft Tmi 1h 3600

21. Use the conversion factors to solve the problem.
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Got It? The prices for one shirt at three different stores are shown in the box
at the right. If Store B lowers its price to $42 for four shirts, which store offers
the best deal for one shirt? Explain.

7. Circle the store that offered the best deal before Store B lowered its price.
Store A Store B Store C

8. Find Store B's new unit rate based on $42 for 4 shirts.

costofshirts _
number of shirts ~ Tshirt

9. Circle the store that offers the best deal now.
Store A Store B Store C
10. Why does this store have the best deal?

Price for 1 Shirt
Store A: $12.50
Store B: $11.25
Store C: $10





